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P60:Σs−R17M3,1(λ)=21,73
xR17M3,1=0,2987
yR17M3,1=0,3055



BG570−3A_1

Wellenlänge λ /nm
400 500 600 700

0,0

   

1,0

   

2,0

LMS_R17M3-Zapfen-Empfindlichkeit  y−max(λ)=1
s−R17M3,1(λ)=B31x

−
R17M3,1(λ)+B32y

−
R17M3,1(λ)

+B33z
−

R17M3,1(λ)
B3j 0,000 0,000 0,7999 λ=440

P55:Σs−R17M3,1(λ)=19,96
xR17M3,1=0,3076
yR17M3,1=0,3156
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P50:Σs−R17M3,1(λ)=18,03
xR17M3,1=0,3187
yR17M3,1=0,3273
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P45:Σs−R17M3,1(λ)=15,95
xR17M3,1=0,3325
yR17M3,1=0,3409
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P40:Σs−R17M3,1(λ)=13,70
xR17M3,1=0,3500
yR17M3,1=0,3566
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P35:Σs−R17M3,1(λ)=11,33
xR17M3,1=0,3727
yR17M3,1=0,3741
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P30:Σs−R17M3,1(λ)=8,86
xR17M3,1=0,4021
yR17M3,1=0,3927
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xR17M3,1=0,4403
yR17M3,1=0,4101


